# Topics on the spectral properties of degenerate non-self-adjoint differential operators 

## Ali Sameripour and Yousef Yadollahi*

## "Correspondence:

yadollahiy@yahoo.com
Department of Mathematics, Lorestan University, Khorramabad, Iran


#### Abstract

Let $(P u)(t)=-\frac{d}{d t}\left(\omega^{2}(t) q(t) \frac{d u(t)}{d t}\right)$ be a degenerate non-self-adjoint operator defined on the space $H_{\ell}=L^{2}(0,1)^{\ell}$ with Dirichlet-type boundary conditions, where $\omega(t) \in C^{1}(0,1)$ is a positive function with further assumptions that will be specified later, and $q(t) \in C^{2}\left([0,1]\right.$, End $\left.C^{\ell}\right)$ is a matrix function. In this article, some spectral characteristics of the operator $P$ are considered. We estimate the resolvent of $P$ and then prove the limit argument theorem. Finally, we find a formula for the distribution of eigenvalues of the operator $P$ acting on $H_{\ell}$.


MSC: Primary 47F05
Keywords: resolvent; asymptotic spectrum; eigenvalues; non-self-adjoint differential operators

## 1 Introduction

For more information, see papers [1-8]. In [1], the authors consider a certain matrix elliptic differential operator and some spectral characteristics of this operator. The spectral characteristics of non-self-adjoint elliptic differential operators are considered in [2,3,68]. In this paper, we generalize the operator in $[4,5]$ and consider its spectral properties by generalizing the distance function $\rho(t)$ to the function $\omega^{2}(t)$.

This paper consists of five sections. Section 1 is devoted to introduction and definitions. In Section 2, we consider the operator $(P u)(t)=-\frac{d}{d t}\left(\omega^{2}(t) q(t) \frac{d u(t)}{d t}\right)$ on the one-dimensional space $H=L^{2}(0,1)$. Using different techniques, in Theorem 2.1 and Theorem 2.2, we prove estimates (2.3) and (2.4) (note that assumption (2.2) is not used in Theorem 2.2). We consider the operator $P$ on the $\ell$-dimensional space $H_{\ell}=L^{2}(0,1)^{\ell}$ and then prove Theorem 3.1 in Section 3. In Section 4, we prove the vanishing limit argument theorem, that is, we show that $\lim _{j \rightarrow \infty} \arg \lambda_{j}=0$. Finally, in Section 5, we find the asymptotic distribution formula for the eigenvalue function $N(\tau)=\operatorname{card}\left\{j:\left|\lambda_{j}\right| \leq \tau\right\}$ as $\tau \rightarrow+\infty$.

Formulation and notation: In this paper, $\mathcal{H}_{\ell}$ denotes the weighted Sobolev space $W_{2, \omega}^{1}(0,1)^{\ell}=W_{2, \omega}^{1}(0,1) \times \cdots \times W_{2, \omega}^{1}(0,1)$ ( $\ell$-times) of vector functions $u(t)=\left(u_{1}(t), \ldots\right.$, $\left.u_{\ell}(t)\right)$ on $(0,1)$ with finite norm

$$
|u|_{+}=\left(\int_{0}^{1} \omega^{2}(t)\left|\frac{d u(t)}{d t}\right|_{C^{\ell}}^{2} d t+\int_{0}^{1}|u(t)|_{C^{\ell}}^{2}\right)^{1 / 2} .
$$

Here $\left|\frac{d u(t)}{d t}\right|_{C^{\ell}}^{2}$ and $|u(t)|_{C^{\ell}}^{2}$ stand for the norm in the space $C^{\ell}$ (the above definition of the norm has been previously used in $[1,4,5,9]$. Of course, this could also be done in matrix language at the cost of greater notational complexity). By $\dot{\mathcal{H}}_{\ell}$ we denote the closure of $C_{0}^{\infty}(0,1)$ in the space $\mathcal{H}_{\ell}$ with respect to the above norm, where $C_{0}^{\infty}(0,1)$ denotes the space of infinitely differentiable functions with compact support in $(0,1)$. Note that if $\ell=1$, then $H=H_{1}, \mathcal{H}=\mathcal{H}_{1}$, and $\dot{\mathcal{H}}=\dot{\mathcal{H}}_{1}$. We now consider a non-self-adjoint differential operator of type $(P u)(t)=-\frac{d}{d t}\left(\omega^{2}(t) q(t) \frac{d u(t)}{d t}\right)$ acting on the space $\mathcal{H}_{\ell}=L^{2}(0,1)^{\ell}$ with Dirichlet-type boundary conditions. Here $\omega(t) \in C^{1}(0,1)$ is a positive function that satisfies the following conditions:

$$
\begin{align*}
& c_{1} t^{\alpha}(1-t)^{\beta} \leq\left|\omega^{2}(t)\right| \leq M,  \tag{1.1}\\
& \left|\left(\omega^{2}\right)^{\prime}(t)\right| \leq M t^{\frac{\alpha}{2}-1+\varepsilon_{1}}(1-t)^{\frac{\beta}{2}-1+\varepsilon_{2}}, \tag{1.2}
\end{align*}
$$

where $0 \leq \alpha, 0 \leq \beta, \varepsilon_{1}=0$ if $\alpha \neq 1$ and $\varepsilon_{1}>0$ if $\alpha=1$, and $\varepsilon_{2}=0$ if $\beta \neq 1$ and $\varepsilon_{2}>0$ if $\beta=1$.
Suppose that $q(t) \in C^{2}\left([0,1]\right.$, End $\left.C^{\ell}\right)$ is a matrix function such that for each $\in[0,1], q(t)$ has $\ell$ distinct nonzero simple eigenvalues $\mu_{1}(t), \ldots, \mu_{\ell}(t)$ in the complex plane such that $\mu_{j}(t) \in C^{2}[0,1]$ for $j=1, \ldots, \ell$.

Note that in Section 4, the latter assumption enables us to diagonalize the matrix function $q(t)$ for each $t \in[0,1]$. Moreover, let $\Phi=\{z \in C:|\arg z| \leq \varphi\}, \varphi \in(0, \pi)$ be some closed angle with vertex at zero. We now consider $\mu_{1}(t), \ldots, \mu_{\nu}(t) \in R_{+}$and $\mu_{\nu+1}(t), \ldots, \mu_{\ell}(t) \in$ $C \backslash \Phi$. In other words, for $t \in[0,1]$, the eigenvalues $\mu_{j}(t)$ are on the positive real line $R_{+}$ for $j=1, \ldots, v$ and are out of the closed angle $\Phi$ in the complex plane $C$ for $j=v+1, \ldots, \ell$.
In all remaining sections, we need to extend the domain of operator $P$ to the closed domain

$$
D(P)=\left\{u \in \dot{\mathcal{H}}_{\ell} \cap W_{2, \mathrm{loc}}^{2}(0,1)^{\ell}: \omega u^{\prime} \in H_{\ell}, \frac{d}{d t}\left(\omega^{2} q \frac{d u}{d t}\right) \in H_{\ell}\right\} .
$$

Here the closed domain refers to the following sesquilinear form:

$$
t[u, v]=\int_{0}^{1} \omega^{2}(t) q(t) u^{\prime}(t) \overline{v^{\prime}(t)} d t
$$

connected with $P$ by $t[u, v]=\langle P u, v\rangle$ (for more explanation, see the representation theorems in Chapter 6 of [10]). In this article, $W_{2, \text { loc }}^{2}(0,1)^{\ell} \times \cdots \times W_{2, \text { loc }}^{2}(0,1)(\ell$-times), where $W_{2, \text { loc }}^{2}(0,1)$ is the space of the functions $u(t)(0<t<1)$ satisfying

$$
\sum_{i=0}^{2} \int_{\varepsilon}^{1-\varepsilon}\left|u^{(i)}(t)\right|^{2} d t<\infty \quad \forall \varepsilon \in\left(0, \frac{1}{2}\right)
$$

## 2 On the resolvent estimate of the differential operator $P$ on $H=L^{2}(0,1)$

In this section, we need to reduce the operator $(P u)(t)=-\frac{d}{d t}\left(\omega^{2}(t) q(t) \frac{d u(t)}{d t}\right)$ acting on the $\ell$-dimensional space $H_{\ell}=L^{2}(0,1)^{\ell}$ to the operator $(P u)(t)=-\frac{d}{d t}\left(\omega^{2}(t) \mu(t) \frac{d u(t)}{d t}\right)$ acting on the one-dimensional space $H=L^{2}(0,1)$. In fact, the matrix $q(t)$ exchanges to a onedimensional function $\mu(t)$ satisfying the following conditions:

$$
\begin{equation*}
\mu(t) \in C^{2}[0,1], \quad \mu(t) \in C \backslash \Phi \quad \forall t \in[0,1] \tag{2.1}
\end{equation*}
$$

Since we work on the small oscillation of the argument of the function $\mu(t)$, as in [2], without loss of generality, we can assume that the oscillation of this function in the interval $[0,1]$ does not exceed $\frac{\pi}{8}$, that is,

$$
\begin{equation*}
\left|\arg \left\{\mu\left(t_{1}\right) \mu^{-1}\left(t_{2}\right)\right\}\right| \leq \frac{\pi}{8} \quad\left(\forall t_{1}, t_{2} \in[0,1]\right) \tag{2.2}
\end{equation*}
$$

Theorem 2.1 Let $(P u)(t)=-\frac{d}{d t}\left(\omega^{2}(t) \mu(t) \frac{d u(t)}{d t}\right)$ be a differential operator acting on the space $H=L_{2}(0,1)$. If (2.1) and (2.2) are satisfied, then for sufficiently large in modulus $\lambda \in \Phi$, the inverse operator $(P-\lambda I)^{-1}$ exists and is continuous in the space $H=L_{2}(0,1)$, and the following estimates hold:

$$
\begin{align*}
& \left\|(P-\lambda I)^{-1}\right\| \leq M|\lambda|^{-1} \quad(\lambda \in \Phi,|\lambda|>C)  \tag{2.3}\\
& \left\|\omega(t) \frac{d}{d t}(P-\lambda I)^{-1}\right\| \leq M|\lambda|^{-\frac{1}{2}} \quad(\lambda \in \Phi,|\lambda|>C) \tag{2.4}
\end{align*}
$$

where $M, C>0$ are sufficiently large numbers depending on $\Phi$.
Proof Step 1. In this step, we prove assertion (2.3). We need to extend the domain of $P$ to the closed set

$$
D(P)=\left\{u \in \dot{\mathcal{H}} \cap W_{2, \text { loc }}^{2}(0,1): \omega u^{\prime} \in H,\left(\omega^{2}(t) \mu u^{\prime}\right)^{\prime} \in H\right\} .
$$

For all $\lambda=|\lambda| e^{i \alpha} \in \Phi$ and $\mu=|\mu| e^{i \beta} \in C \backslash \Phi$, we can choose $\gamma \in(-\pi, \pi]$ such that $\cos (\gamma+$ $\alpha)<0$ and $\cos (\gamma+\beta)>0$. Now we define $c^{\prime}$ as follows:

$$
c^{\prime}=\min \left\{\frac{-\operatorname{Re}\left\{e^{i \gamma} \lambda\right\}}{|\lambda|}, \operatorname{Re}\left\{e^{i \gamma} \mu\right\}\right\} .
$$

So we have:

$$
\begin{equation*}
c^{\prime} \leq \operatorname{Re}\left\{e^{i \gamma} \mu(t)\right\}, \quad c^{\prime}|\lambda| \leq-\operatorname{Re}\left\{e^{i \gamma} \lambda\right\}, \quad c^{\prime}>0, t \in[0,1], \lambda \in \Phi \tag{2.5}
\end{equation*}
$$

For $u \in D(P)$, by integrating two sides of $c^{\prime} \leq \operatorname{Re}\left\{e^{i \gamma} \mu(t)\right\}$ we have

$$
c^{\prime} \int_{0}^{1} \omega^{2}(t)\left|u^{\prime}(t)\right|^{2} d t \leq \operatorname{Re} \int_{0}^{1} e^{i \gamma} \omega^{2}(t) \mu(t)\left|u^{\prime}(t)\right|^{2} d t=\operatorname{Re}\left\{e^{i \gamma}(P u, u)\right\} .
$$

Here the symbol (, ) denotes the inner product in $H$.
By multiplying the inequality $c^{\prime}|\lambda| \leq-\operatorname{Re}\left\{e^{i \gamma} \lambda\right\}$ by $\int_{0}^{1}|u(t)|^{2} d t=(u, u)=\|u\|^{2}>0$ we have

$$
c^{\prime}|\lambda| \int_{0}^{1}|u(t)|^{2} d t \leq-\operatorname{Re}\left\{e^{i \gamma} \lambda\right\}(u, u)
$$

For $c^{\prime}=\frac{1}{M}$, from the above inequalities we have:

$$
\begin{aligned}
\int_{0}^{1} \omega^{2}(t)\left|u^{\prime}(t)\right|^{2} d t+|\lambda| \int_{0}^{1}|u(t)|^{2} d t & \leq M \operatorname{Re}\left\{e^{i \gamma}(P u, u)-e^{i \gamma} \lambda(u, u)\right\} \\
& =M \operatorname{Re}\left\{e^{i \gamma}(P-\lambda I) u, u\right\}
\end{aligned}
$$

$$
\begin{align*}
& \leq M\left\|e^{i \gamma}\right\|\|u\|\|(P-\lambda I) u\| \\
& =M\|u\|\|(P-\lambda I) u\| . \tag{2.6}
\end{align*}
$$

Since $\int_{0}^{1} \omega^{2}(t)\left|u^{\prime}(t)\right|^{2} d t>0$, we have

$$
\begin{equation*}
|\lambda| \int_{0}^{1}|u(t)|^{2} d t \leq M\|u\|\|(P-\lambda I) u\| \tag{2.7}
\end{equation*}
$$

or

$$
|\lambda|\|u\| \leq M\|(P-\lambda I) u\| .
$$

The above relation ensures that the operator $(P-\lambda I)$ is one-to-one, which implies that $\operatorname{ker}(P-\lambda I)=0$. Therefore, the inverse operator $(P-\lambda I)^{-1}$ exists, and its continuity follows from the proof of estimate (2.3) of Theorem 2.1. To prove (2.3), we set $u=(P-\lambda I)^{-1} f$, $f \in H$. By (2.7) we have:

$$
|\lambda| \int_{0}^{1}\left|(P-\lambda I)^{-1} f\right|^{2} d t \leq M\left\|(P-\lambda I)^{-1} f\right\|\left\|(P-\lambda I)(P-\lambda I)^{-1} f\right\| .
$$

Since $(P-\lambda I)(P-\lambda I)^{-1} f=I(f)=f$, it follows that

$$
|\lambda| \int_{0}^{1}\left|(P-\lambda I)^{-1} f\right|^{2} d t \leq M\left\|(P-\lambda I)^{-1} f\right\||f| .
$$

Therefore,

$$
|\lambda|\left\|(P-\lambda I)^{-1} f\right\|^{2} \leq M\left\|(P-\lambda I)^{-1}(f)\right\||f|,
$$

which implies $|\lambda|\left\|(P-\lambda I)^{-1}(f)\right\| \leq M|f|$. Since $\lambda \neq 0$, we have $\left\|(P-\lambda I)^{-1}(f)\right\| \leq M|\lambda|^{-1}|f|$. The final result is

$$
\left\|(P-\lambda I)^{-1}\right\| \leq M|\lambda|^{-1}
$$

This estimate completes the proof of assertion (2.3).
Step 2. In this step, we prove inequality (2.4). Since $|\lambda| \int_{0}^{1}|u(t)|^{2} d t>0$, from (2.6) we have

$$
\int_{0}^{1} \omega^{2}(t)\left|u^{\prime}(t)\right|^{2} d t \leq M\|u\|\|(P-\lambda I) u\|
$$

By setting $u=(P-\lambda I)^{-1} f, f \in H$, in the last inequality we have

$$
\int_{0}^{1} \omega^{2}(t)\left|\frac{d}{d t}(P-\lambda I)^{-1} f(t)\right|^{2} d t \leq M\left\|(P-\lambda I)^{-1} f\right\|\left\|(P-\lambda I)(P-\lambda I)^{-1} f\right\|
$$

Since $(P-\lambda I)(P-\lambda I)^{-1} f=f$, we get

$$
\int_{0}^{1} \omega^{2}(t)\left|\frac{d}{d t}(P-\lambda I)^{-1} f(t)\right|^{2} d t \leq M\left\|(P-\lambda I)^{-1} f\right\|\|f\|
$$

and by (2.3) we have $\left\|(P-\lambda I)^{-1} f\right\| \leq M\|f\||\lambda|^{-1}$, so

$$
\int_{0}^{1} \omega^{2}(t)\left|\frac{d}{d t}(P-\lambda I)^{-1} f(t)\right|^{2} d t \leq M M|\lambda|^{-1}\|f\|^{2}
$$

Therefore,

$$
\int_{0}^{1} \omega^{2}(t)\left|\frac{d}{d t}(P-\lambda I)^{-1} f(t)\right|^{2} d t \leq M^{2}|\lambda|^{-1}\|f\|^{2}
$$

that is,

$$
\left\|\omega(t) \frac{d}{d t}(P-\lambda I)^{-1} f(t)\right\|^{2} \leq M^{2}|\lambda|^{-1}\|f\|^{2} .
$$

So

$$
\left\|\omega(t) \frac{d}{d t}(P-\lambda I)^{-1} f(t)\right\| \leq M|\lambda|^{-\frac{1}{2}} .
$$

Now we claim that in spite of dropping assumption (2.2), assertions (2.3) and (2.4) of Theorem 2.1 are valid.

Theorem 2.2 Let $(P u)(t)=-\frac{d}{d t}\left(\omega^{2}(t) \mu(t) \frac{d u(t)}{d t}\right)$ be a differential operator acting on the space $H=L_{2}(0,1)$. If (2.1) is satisfied, then for sufficiently large in modulus $\lambda \in \Phi$, the inverse operator $(P-\lambda I)^{-1}$ exists and is continuous, and the following estimates hold:

$$
\begin{align*}
& \left\|(P-\lambda I)^{-1}\right\| \leq M_{\Phi}|\lambda|^{-1} \quad\left(\lambda \in \Phi,|\lambda|>C_{\Phi}\right),  \tag{2.8}\\
& \left\|\omega(t) \frac{d}{d t}(P-\lambda I)^{-1}\right\| \leq M_{\Phi}^{\prime}|\lambda|^{-\frac{1}{2}} \quad\left(\lambda \in \Phi,|\lambda|>C_{\Phi}\right), \tag{2.9}
\end{align*}
$$

where $M_{\Phi}, M_{\Phi}^{\prime}, C_{\Phi}>0$ are sufficiently large numbers depending on $\Phi$.

Proof Step 1. In this step, we prove assertion (2.8). We need to construct nonnegative functions $\varphi_{(1)}(t), \ldots, \varphi_{(\rho)}(t)$ and new functions $\mu_{(1)}(t), \ldots, \mu_{(\rho)}(t)$ with the following properties:

$$
\begin{aligned}
& \mu_{(1)}(t), \ldots, \mu_{(\rho)}(t), \varphi_{(1)}(t), \ldots, \varphi_{(\rho)}(t) \in C^{\infty}[0,1], \\
& 0 \leq \varphi_{(j)}(t), \quad \varphi_{(1)}^{2}(t)+\cdots+\varphi_{(\rho)}^{2}(t) \equiv 1 \quad(0 \leq t \leq 1), \\
& \frac{d}{d t} \varphi_{(j)}(t) \in C_{0}^{\infty}(0,1), \quad \mu_{(j)}(t)=\mu(t) \quad \forall t \in \operatorname{supp} \varphi_{(j)}, \\
& \mu_{(j)}(t) \in C \backslash \Phi \quad \forall t \in[0,1], j=1, \ldots, \rho, \\
& \left|\arg \left\{\mu_{(j)}\left(t_{1}\right) \mu_{(j)}^{-1}\left(t_{2}\right)\right\}\right| \leq \frac{\pi}{8} \quad\left(\forall t_{1}, t_{2} \in \operatorname{supp} \varphi_{(j)}\right), j=1, \ldots, \rho .
\end{aligned}
$$

Considering Theorem 2.1, by (2.3) and (2.4) set

$$
\left(A_{(j)} v\right)(t)=-\frac{d}{d t}\left(\omega^{2}(t) \mu_{(j)}(t) \frac{d v(t)}{d t}\right),
$$

acting on the space $H=L_{2}(0,1)$, where

$$
D\left(A_{(j)}\right)=\left\{v \in \dot{\mathcal{H}} \cap W_{2, \mathrm{loc}}^{2}(0,1):\left(\omega^{2}(t) \mu_{(j)} v^{\prime}\right)^{\prime} \in H\right\} .
$$

By Theorem 2.1 the operator $\left(A_{(j)}-\lambda I\right)$ has a continuous inverse for $0 \neq \lambda \in \Phi$ and satisfies

$$
\begin{equation*}
\left\|\left(A_{(j)}-\lambda I\right)^{-1}\right\| \leq M_{1}|\lambda|^{-1}, \quad\left\|\omega(t) \frac{d}{d t}\left(A_{(j)}-\lambda I\right)^{-1}\right\| \leq M_{1}|\lambda|^{-\frac{1}{2}} . \tag{2.10}
\end{equation*}
$$

Let us introduce the operator

$$
\begin{equation*}
T(\lambda)=\sum_{J=1}^{\rho} \varphi_{(j)}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} \tag{2.11}
\end{equation*}
$$

in the space $\mathcal{H}$. Here $\varphi_{(j)}$ is the operator of multiplication by the function $\varphi_{(j)}(t)$. Consequently, it is easily verified that

$$
(P-\lambda I) T(\lambda) v=I_{1}+I_{2}+I_{3}+I_{4},
$$

where

$$
\begin{aligned}
& I_{1}=-\sum_{j=1}^{\rho}\left(\omega^{2}(t) \mu\left(\varphi_{(j)}\right)_{t}^{\prime}\right)_{t}^{\prime}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v, \\
& I_{2}=-\sum_{j=1}^{\rho} \omega^{2}(t) \mu\left(\varphi_{(j)}\right)_{t}^{\prime} \frac{d}{d t}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v, \\
& I_{3}=-\sum_{j=1}^{\rho} \varphi_{(j)}\left(\omega^{2}(t) \mu \frac{d}{d t}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v\right)_{t}^{\prime}, \\
& I_{4}=-\lambda \sum_{j=1}^{\rho} \varphi_{(j)}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v .
\end{aligned}
$$

Since $\mu_{(j)}(t)=\mu(t) \forall t \in \operatorname{supp} \varphi_{(j)}$, we can replace $\mu(t)$ by $\mu_{(j)}(t)$ in $I_{3}$. Then using $\sum_{j=1}^{\rho} \varphi_{(j)}^{2}(t) \equiv 1$, it follows that

$$
\begin{aligned}
I_{3}+I_{4} & =-\sum_{j=1}^{\rho} \varphi_{(j)}\left[\left(\omega^{2}(t) \mu \frac{d}{d t}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v\right)_{t}^{\prime}+\lambda\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v\right] \\
& =\sum_{j=1}^{\rho} \varphi_{(j)}\left(A_{(j)}-\lambda I\right)\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v=\sum_{j=1}^{\rho} \varphi_{(j)}^{2} v=v .
\end{aligned}
$$

Now if we suppose that $I_{1}+I_{2}=G(\lambda) v$, then $(P-\lambda I) T(\lambda) v=v+G(\lambda) v$, so

$$
\begin{equation*}
(P-\lambda I) T(\lambda)=I+G(\lambda) . \tag{2.12}
\end{equation*}
$$

Since $\varphi_{(j) t}^{\prime} \in C^{\infty}(0,1)$, by (2.10) we can estimate $I_{1}, I_{2}$ as follows:

$$
\left\|I_{1}\right\| \leq M \sum_{j=1}^{\rho}\left|\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v\right| \leq M|\lambda|^{-\frac{1}{2}}\|v\|,
$$

$$
\left\|I_{2}\right\| \leq M \sum_{j=1}^{\rho}\left|\frac{d}{d t}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)} v\right| \leq M^{\prime}|\lambda|^{-\frac{1}{2}}\|v\| .
$$

Using these estimates, we have

$$
\|G(\lambda)\| \leq\left\|I_{1}\right\|+\left\|I_{2}\right\| \leq M|\lambda|^{-1}\|v\|+M^{\prime}|\lambda|^{-\frac{1}{2}}\|\nu\| .
$$

For sufficiently large number $C_{\Phi}>0$ such that $|\lambda|>C_{\Phi}$, we have $|\lambda|^{-1} \leq|\lambda|^{-\frac{1}{2}}$, so

$$
\begin{equation*}
\|G(\lambda)\| \leq M^{\prime \prime|\lambda|^{-\frac{1}{2}}} \tag{2.13}
\end{equation*}
$$

By choosing suitable $\lambda$ we conclude that $\|G(\lambda)\| \leq \frac{1}{2}<1$. Using this and the well-known theorem in the operator theory, we conclude that $I+G(\lambda)$ is invertible. So by (2.12) we have that $(P-\lambda I) T(\lambda)$ is eversible and

$$
\begin{equation*}
(T(\lambda))^{-1}(P-\lambda I)^{-1}=(I+G(\lambda))^{-1} \tag{2.14}
\end{equation*}
$$

We add $+I$ and $-I$ to the right side of the (2.14) and consider $F(\lambda)=(I+G(\lambda))^{-1}-I$ :

$$
\begin{equation*}
(T(\lambda))^{-1}(P-\lambda I)^{-1}=F(\lambda)+I . \tag{2.15}
\end{equation*}
$$

In view of $\|G(\lambda)\| \leq \frac{1}{2}<1$ and (2.13), by applying the geometric series for $F(\lambda)$ we have

$$
\|F(\lambda)\| \leq \sum_{i=2}^{+\infty}\left\|G^{k}(\lambda)\right\| \leq\|G(\lambda)\|^{2}\left(1+\frac{1}{2}+\frac{1}{4}+\cdots\right) \leq 2\left(M^{\prime \prime}|\lambda|^{-\frac{1}{2}}\right)^{2}
$$

so

$$
\|F(\lambda)\| \leq M^{\prime \prime \prime}|\lambda|^{-1} .
$$

By (2.10) and (2.11) we have

$$
\|T(\lambda)\|=\left\|\sum_{j=1}^{\rho} \varphi_{(j)}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)}\right\| \leq K_{1}\left\|\left(A_{(j)}-\lambda I\right)^{-1}\right\|,
$$

that is,

$$
\begin{equation*}
\|T(\lambda)\| \leq K_{1} M_{1}|\lambda|^{-1}=K_{2}|\lambda|^{-1} . \tag{2.16}
\end{equation*}
$$

Now by (2.15) and (2.16) we have

$$
\left\|(P-\lambda I)^{-1}\right\|=\|T(\lambda)\|\|(I+F(\lambda))\| \leq K_{2}|\lambda|^{-1}\left(1+M^{\prime \prime \prime}|\lambda|^{-1}\right) \leq K_{2}|\lambda|^{-1}+K_{2}|\lambda|^{-1} M^{\prime \prime \prime}|\lambda|^{-1} .
$$

As before, for sufficiently large number $C_{\Phi}>0$ such that $|\lambda|>C_{\Phi}$, we have $|\lambda|^{-1}|\lambda|^{-1}=$ $|\lambda|^{-2} \leq|\lambda|^{-1}$, so

$$
\left\|(P-\lambda I)^{-1}\right\| \leq K_{2}|\lambda|^{-1}+K_{2}|\lambda|^{-1} M^{\prime \prime \prime}|\lambda|^{-1}=M_{\Phi}|\lambda|^{-1} \quad\left(|\lambda| \geq C_{\Phi}, \lambda \in \Phi\right) .
$$

Step 2. To prove assertion (2.9), by replacing $\omega(t) \frac{d}{d t}\left(A_{(j)}-\lambda I\right)^{-1}$ instead of $\left(A_{(j)}-\lambda I\right)^{-1}$ in the $T(\lambda)$ and using the previous calculations, we have

$$
\left\|T^{\prime}(\lambda)=\sum_{j=1}^{\rho} \varphi_{(j)} \frac{d}{d t}\left(A_{(j)}-\lambda I\right)^{-1} \varphi_{(j)}\right\| \leq K_{1}^{\prime}\left\|\omega(t) \frac{d}{d t}\left(A_{(j)}-\lambda I\right)^{-1}\right\|,
$$

that is,

$$
\left\|T^{\prime}(\lambda)\right\| \leq K_{1}^{\prime} M_{1}|\lambda|^{-\frac{1}{2}}=K_{2}^{\prime}|\lambda|^{-\frac{1}{2}}
$$

By similar calculations we have

$$
\omega(t) \frac{d}{d t}(P-\lambda I)^{-1}=T^{\prime}(\lambda)\left(I+F^{\prime}(\lambda)\right)
$$

where $\left\|F^{\prime}(\lambda)\right\| \leq M_{1}^{\prime \prime \prime}|\lambda|^{-1}$, and hence

$$
\left\|\omega(t) \frac{d}{d t}(P-\lambda I)^{-1}\right\|=\left\|T^{\prime}(\lambda)\right\|\left\|\left(I+F^{\prime}(\lambda)\right)\right\| .
$$

Therefore,

$$
\left\|\omega(t) \frac{d}{d t}(P-\lambda I)^{-1}\right\| \leq K_{2}^{\prime}|\lambda|^{-\frac{1}{2}}\left(1+M_{1}^{\prime \prime \prime}|\lambda|^{-1}\right)=K_{2}^{\prime}|\lambda|^{-\frac{1}{2}}+K_{2}^{\prime}|\lambda|^{-\frac{1}{2}} M_{1}^{\prime \prime \prime}|\lambda|^{-1}
$$

since $|\lambda|^{-\frac{1}{2}}|\lambda|^{-1} \leq|\lambda|^{-\frac{1}{2}}$, and, consequently,

$$
\left\|\omega(t) \frac{d}{d t}(P-\lambda I)^{-1}\right\| \leq K_{2}^{\prime}|\lambda|^{-\frac{1}{2}}+K_{2}^{\prime} M_{1}^{\prime \prime \prime}|\lambda|^{-\frac{1}{2}}=M_{\Phi}^{\prime}|\lambda|^{-\frac{1}{2}} .
$$

## 3 On the resolvent estimate of the operator on $H_{\ell}=L^{2}(0,1)^{\ell}$

In this section, we consider the operator $P$ on the $\ell$-dimensional space $H_{\ell}=L^{2}(0,1)^{\ell}$. In fact, the conditions in this section are more general than in the previous one.

Theorem 3.1 Let $(P u)(t)=-\frac{d}{d t}\left(\omega^{2}(t) q(t) \frac{d u(t)}{d t}\right)$ be an operator acting on the space $H_{\ell}=$ $L^{2}(0,1)^{\ell}$ with Dirichlet-type boundary conditions. Here $\omega(t) \in C^{1}(0,1)$ is a positive function that satisfies conditions (1.1) and (1.2). Let $\Phi=\{z \in C:|\arg z| \leq \varphi\}$, where $\varphi \in(0, \pi)$ is a closed angle with vertex atzero. Let $q(t) \in C^{2}\left([0,1]\right.$, End $\left.C^{\ell}\right)$ be such that the matrixfunction $q(t)$ has $\ell$ distinct nonzero simple eigenvalues $\mu_{j}(t) \in C^{2}[0,1](1 \leq j \leq \ell)$ for each $t \in[0,1]$ that are arranged in the complex plane $C$ in the following way: $\mu_{1}(t), \ldots, \mu_{\nu}(t) \in R_{+}$, $\mu_{v+1}(t), \ldots, \mu_{\ell}(t) \in C \backslash \Phi$. Then for sufficiently large in modulus $\lambda \in \Phi$, the inverse operator $(P-\lambda I)^{-1}$ exists and is continuous in the space $H_{\ell}=L^{2}(0,1)^{\ell}$, and the following estimates hold:

$$
\begin{align*}
& \left\|(P-\lambda I)^{-1}\right\| \leq M|\lambda|^{-1} \quad(\lambda \in \Phi,|\lambda|>C)  \tag{3.1}\\
& \left\|\omega(t) \frac{d}{d t}(P-\lambda I)^{-1}\right\| \leq M_{2}^{\prime}|\lambda|^{-\frac{1}{2}} \quad(\lambda \in \Phi,|\lambda|>C) \tag{3.2}
\end{align*}
$$

where the $M, C>0$ are sufficiently large numbers depending on $\Phi$.

Proof Step 1. In this step, we proof assertion (3.1). First, note that the conditions we consider on the eigenvalues $\mu_{j}(t)$ of the matrix function $q(t)$ guarantee that we can convert the matrix to the diagonal form

$$
q(t)=U(t) \Lambda(t) U^{-1}(t), \quad \text { where } U(t), U^{-1}(t) \in C^{2}\left([0,1], \text { End } C^{\ell}\right)
$$

and $\Lambda(t)=\operatorname{diag}\left\{\mu_{1}(t), \ldots, \mu_{\ell}(t)\right\}$. Consider the space $H_{\ell}=H \oplus \cdots \oplus H(\ell$-times) and let us introduce the operator

$$
\begin{equation*}
B(\lambda)=\operatorname{diag}\left\{\left(P_{1}-\lambda I\right)^{-1}, \ldots,\left(P_{1}-\lambda I\right)^{-1}\right\} \tag{3.3}
\end{equation*}
$$

acting on $H_{\ell}$, where $\left(P_{j} v\right)(t)=-\frac{d}{d t}\left(\omega^{2} \mu_{j} \frac{d v(t)}{d t}\right)$ and

$$
D\left(P_{j}\right)=\left\{v \in \dot{\mathcal{H}} \cap W_{2, \mathrm{loc}}^{2}(0,1) ; \omega u^{\prime} \in H, \frac{d}{d t}\left(\omega^{2} \mu_{j} \frac{d u}{d t}\right) \in H\right\} .
$$

According to the results that obtained in Section 2, the operator $B(\lambda)$ exists and is continuous for sufficiently large modulus of $\lambda \in \Phi$. Consider the operator $\Gamma(\lambda)=U B(\lambda) U^{-1}$, where $(U u)(t)=U(t) u(t)\left(u \in H_{\ell}\right)$. Consequently, it follows that

$$
(P-\lambda I) \Gamma(\lambda) u=-\frac{d}{d t}\left(\omega^{2} q(t) \frac{d}{d t}\left(U(t) B(\lambda) U^{-1}(t) u(t)\right)\right)=T_{1}+T_{2}+T_{3}
$$

where

$$
\begin{aligned}
T_{1} & =-\frac{d}{d t}\left(\omega^{2} q(t) U(t) \frac{d}{d t} B(\lambda) U^{-1}(t) u(t)\right)=-\frac{d}{d t}\left(\omega^{2} U(t) \Lambda(t) \frac{d}{d t} B(\lambda) U^{-1} u(t)\right) \\
& =-U \frac{d}{d t}\left(\omega^{2} \Lambda(t) \frac{d}{d t} B(\lambda) U^{-1} u\right)-U^{\prime}(t) \omega^{2} \Lambda \frac{d}{d t} B(\lambda) U^{-1} u \\
& =\lambda U B(\lambda) U^{-1} u-U^{\prime}(t) \omega^{2} \Lambda \frac{d}{d t} B(\lambda) U^{-1} u+U U^{-1} u, \\
T_{2} & =-\frac{d}{d t}\left(\omega^{2} q U^{\prime} B(\lambda) U^{-1} u\right),
\end{aligned}
$$

and

$$
T_{3}=-\lambda U(t) B(\lambda) U^{-1} u
$$

Using (2.3) and (2.4), have $(P-\lambda I) \Gamma(\lambda)=I+T_{1}^{0}+T_{2}^{0}$, where $T_{2}^{0}=\left(\omega^{2}\right)^{\prime} q U^{\prime} B(\lambda) U^{-1}$ and $\left\|T_{1}^{0}\right\| \leq M|\lambda|^{-\frac{1}{2}}$.
Now by the Hardy-type inequality we estimate the operator $T_{2}^{0}$ as follows:

$$
\begin{aligned}
& \int_{0}^{1} t^{-1+\varepsilon^{\prime}}(1-t)^{-1+\varepsilon^{\prime} 2}|y(t)|^{2} d t \\
& \quad \leq M\left(\varepsilon_{1}^{\prime}, \varepsilon_{2}^{\prime}\right) \int_{0}^{1}|y(t)|^{2} d t \\
& \quad+M\left(\varepsilon_{1}^{\prime}, \varepsilon_{2}^{\prime}\right) \int_{0}^{1} t^{1+\varepsilon_{1}^{\prime}}(1-t)^{1+\varepsilon_{2}^{\prime}}\left|y^{\prime}(t)\right|^{2} d t \quad \forall y \in \dot{\mathcal{H}}, \varepsilon_{1}^{\prime}, \varepsilon_{2}^{\prime} \neq 0 .
\end{aligned}
$$

Since $\left|q(t) U^{\prime}(t)\right|_{C^{\ell} \rightarrow C^{\ell}} \leq M$, by (1.2) we have the following inequality:

$$
\begin{aligned}
& \int_{0}^{1}\left|\left(\omega^{2}(t)\right)^{\prime}\right|^{2}|(B(\lambda) u(t))|_{C^{\ell}}^{2} d t \\
& \quad \leq M_{2} \int_{0}^{1} t^{\alpha-2+2 \varepsilon_{1}^{\prime}}(1-t)^{\beta-2+2 \varepsilon^{\prime} 2}\left|W^{\prime}(t)\right|_{C^{\ell}}^{2} d t \\
& \leq M_{3} \int_{0}^{1}\left|t^{\alpha}(1-t)^{\beta} \omega^{-2}(t)\right|\left|\omega^{2}((B(\lambda) u)(t))_{t}^{\prime}\right|_{C^{\ell}}^{2} d t \\
& \quad+M|(B(\lambda) u)|_{H_{\ell}}^{2}, \quad W=B(\lambda) u .
\end{aligned}
$$

Now by (1.1) and estimate (2.3) it follows

$$
\begin{aligned}
& \int_{0}^{1}\left|\left(\omega^{2}(t)\right)^{\prime}\right|^{2}|(B(\lambda) u)(t)|_{C^{\ell}}^{2} d t \\
& \quad \leq M \int_{0}^{1} \omega^{2}\left|((B(\lambda) u)(t))_{t}^{\prime}\right|_{C^{\ell}}^{2} d t+M|(B(\lambda) u)|_{H_{\ell}}^{2} \\
& \quad \leq M^{\prime}|\lambda|^{-1}|u|_{H_{\ell}}^{2} \quad(\lambda \in \Phi,|\lambda|>C) .
\end{aligned}
$$

Then $\left\|T_{2}^{0}\right\| \leq M^{\prime}|\lambda|^{-1 / 2}$ for sufficiently large in modulus of $\lambda \in \Phi$; consequently,

$$
\begin{equation*}
(P-\lambda I) \Gamma(\lambda)=I+F(\lambda), \quad\|F(\lambda)\| \leq M|\lambda|^{-\frac{1}{2}} \quad(\lambda \in \Phi,|\lambda|>C) \tag{3.4}
\end{equation*}
$$

Proceeding as at the end of Section 2 (e.g., see (2.12)) from $\|F(\lambda)\| \leq M|\lambda|^{-\frac{1}{2}}$ it easily follows that $I+F(\lambda)$ is inversible and then that $(A-\lambda I) \Gamma(\lambda)$ is inversible, that is,

$$
((P-\lambda I) \Gamma(\lambda))^{-1}=(I+F(\lambda))^{-1} .
$$

Then by adding $-I$ and $+I$ to the last relation we have

$$
(I+F(\lambda))^{-1}=(I+F(\lambda))^{-1}-I+I
$$

Since $\|F(\lambda)\| \leq M|\lambda|^{-\frac{1}{2}}$, in a calculation as in Section 2, take $y(\lambda)=(i+F(\lambda))^{-1}-I$. Then $y(\lambda)$ satisfies

$$
\begin{equation*}
\|y(\lambda)\| \leq M|\lambda|^{-1} \quad(\lambda \in \Phi,|\lambda|>C) \tag{3.5}
\end{equation*}
$$

Consequently,

$$
\begin{equation*}
(P-\lambda I)^{-1}=\Gamma(\lambda)(I+y(\lambda)) \tag{3.6}
\end{equation*}
$$

since

$$
\begin{equation*}
\Gamma(\lambda)=U B(\lambda) U^{-1}, \quad B(\lambda)=\operatorname{diag}\left\{\left(P_{1}-\lambda I\right)^{-1}, \ldots,\left(P_{\ell}-\lambda I\right)^{-1}\right\} . \tag{3.7}
\end{equation*}
$$

Put $P_{j}=A_{j}, j=1, \ldots, \ell$, as in (2.10). By (3.5)-(3.7) we have $\left\|\left(P_{j}-\lambda I\right)^{-1}\right\| \leq M|\lambda|^{-1}, j=1, \ldots, \ell$, and it follows that $\|\Gamma(\lambda)\| \leq M|\lambda|^{-1}$, so

$$
\begin{aligned}
\left\|(P-\lambda I)^{-1}\right\| & \leq\|\Gamma(\lambda)\|\|(I+y(\lambda))\| \\
& \leq M|\lambda|^{-1}\left(1+M|\lambda|^{-1}\right) \leq M|\lambda|^{-1} .
\end{aligned}
$$

Step 2. Now we prove estimate (2.9). Since $\left\|\omega \frac{d}{d t}\left(P_{j}-\lambda I\right)^{-1}\right\| \leq M|\lambda|^{-\frac{1}{2}}, j=1, \ldots, \ell$, for $\Gamma_{1}(\lambda)$, we can get the corresponding estimate $\left\|\Gamma_{1}(\lambda)\right\| \leq M_{1}|\lambda|^{-\frac{1}{2}}$, and this implies

$$
\left\|\omega \frac{d}{d t}(P-\lambda I)^{-1}\right\| \leq\left\|\Gamma_{1}(\lambda)\right\|\left\|\left(I+y_{1}(\lambda)\right)\right\| .
$$

Since $\left\|y_{1}(\lambda)\right\| \leq M_{1}^{\prime}|\lambda|^{-1}$, we have $\left\|\omega \frac{d}{d t}\left(P_{j}-\lambda I\right)^{-1}\right\|\left\|\omega \frac{d}{d t}\left(P_{j}-\lambda I\right)^{-1}\right\| \leq M|\lambda|^{-\frac{1}{2}}\left(1+M_{1}^{\prime}|\lambda|^{-1}\right)$, which implies $\left\|\omega \frac{d}{d t}\left(P_{j}-\lambda I\right)^{-1}\right\| \leq M|\lambda|^{-\frac{1}{2}}$ for $(\lambda \in \Phi,|\lambda| \geq C)$, so that the proof of the fundamental Theorem 3.1 in the general case $H_{\ell}=L^{2}(0,1)^{\ell}$ is completed.

## 4 Vanishing limit arguments

Denote by $\lambda_{1}, \lambda_{2}, \ldots$ the eigenvalues of $P$ that belong to the angle

$$
\Phi=\{z \in C:|\arg z|<\varphi\}, \quad \varphi \in(0, \pi) .
$$

We want to find the limit of the sequence $\left\{\lambda_{j}\right\}$ as $j \rightarrow \infty$.

Theorem 4.1 Suppose that for every closed angle $S \subset \Phi \backslash R_{+}$with origin atzero, there exists a number $C(S)>0$ such that for all $\lambda \in S$ with $|\lambda| \geq C(S)$, the inverse operator $(P-\lambda I)^{-1}$ exists and is continuous. Then

$$
\arg \lambda_{j} \rightarrow 0 \quad(j \rightarrow \infty)
$$

Proof Assume the set $K=\left\{\arg \lambda_{j}: j=1,2, \ldots\right\}$ has a nonzero limit point $\varphi_{1} \in[-\varphi,+\varphi]$. Then there exists a subsequence $\left\{\lambda_{j_{k}}\right\}$ such that

$$
\lim _{k \rightarrow \infty} \arg \lambda_{j_{k}}=\varphi_{1}
$$

We consider the closed sector $S \subset \bar{\Phi} \backslash R_{+}$such that the ray

$$
\Gamma=\left\{z \in C ; \arg z=\varphi_{1}\right\} \subset S
$$

By the definition of the limit and our assumption there exists $N_{1} \in N$ such that $\forall k>N_{1}$, $\lambda_{j_{k}} \in S$. Since $\lambda_{n} \rightarrow \infty(n \rightarrow \infty)$ for $C(S)>0$, there exists $N_{2} \in N$ such that $\left|\lambda_{j_{k}}\right| \geq C(S)$ for $k>N_{2}$.
Now if $k>\max \left(N_{1}, N_{2}\right)$, then $\lambda_{j_{k}} \in S$ and $\left|\lambda_{j_{k}}\right| \geq C(S)$, so that the latter condition implies that $\left(P-\lambda_{j_{k}} I\right)^{-1}$ exists and is continuous, which in turn by definition implies that $\lambda_{j_{k}}$ is not an eigenvalue of $P$ (since by Theorem 2.1 this $\lambda_{j_{k}}$ is the resolvent of $P$, that is, cannot be an eigenvalue of $P$ ), so $\lambda_{j_{k}} \notin \Phi$, which is a contradiction. Hence, we must have

$$
\arg \lambda_{j} \rightarrow 0 \quad(j \rightarrow \infty)
$$

## 5 On the asymptotic distribution of eigenvalues of the differential operator $P$ on $H_{\ell}$

Theorem 5.1 Let $\Lambda=\frac{1}{\pi} \sum_{j=1}^{\nu} \int_{0}^{1} \omega^{-1}(t) \mu_{j}^{-\frac{1}{2}}(t) d t$ and $N(\tau)=\operatorname{card}\left\{j:\left|\lambda_{j}\right| \leq \tau\right\}$ be a distribution function. Then we have the following asymptotic formula:

$$
N(\tau) \sim \Lambda \tau^{1 / 2} \quad \text { as } \rightarrow+\infty
$$

Proof We know that for an arbitrary kernel operator $T_{1}$ and an arbitrary bounded operator $T_{2}$,

$$
\operatorname{tr} T_{1} T_{2}=\operatorname{tr} T_{2} T_{1}, \quad\left|T_{1} T_{2}\right|_{1} \leq\left|T_{1}\right|_{1}\left\|T_{2}\right\|
$$

(see [10]).
Using these relations, from (3.3) and (3.4) we get

$$
\begin{aligned}
& \operatorname{tr}(P-\lambda I)^{-1}=\sum_{J=1}^{+\infty} \frac{1}{\lambda_{j}-\lambda}=\operatorname{tr} \Gamma(\lambda)+O(1)|\Gamma(\lambda)|_{1}\|y(\lambda)\|, \\
& \operatorname{tr} \Gamma(\lambda)=\operatorname{tr} U B(\lambda) U^{-1}=\operatorname{tr} B(\lambda)=\sum_{j=1}^{\ell} \operatorname{tr}\left(P_{j}-\lambda I\right)^{-1}, \\
& |\Gamma(\lambda)|_{1} \leq\|U\|\left\|U^{-1}\right\||B(\lambda)|_{1} \leq M|\lambda|^{-1} \quad(\lambda \in \Phi,|\lambda|>C) .
\end{aligned}
$$

Now if $\lambda \rightarrow \infty$, then

$$
\begin{equation*}
\sum_{j=1}^{+\infty} \frac{1}{\lambda_{j}-\lambda}=\sum_{j=1}^{\ell} \operatorname{tr}\left(P_{j}-\lambda I\right)^{-1}+O\left(|\lambda|^{-1}\right) \tag{5.1}
\end{equation*}
$$

Let $\lambda_{1}, \lambda_{2}, \ldots$ and $\lambda_{j, 1}, \lambda_{j, 2}, \ldots$ be the sequences of the eigenvalues of the operators $P$ and $P_{j}$ (for $j=v+1, \ldots, l$ ), respectively. So

$$
\begin{equation*}
\sum_{j=1}^{+\infty} \frac{1}{\lambda_{j}-\lambda}=\sum_{k=1}^{\ell} \sum_{j=1}^{+\infty} \frac{1}{\lambda_{j, k}-\lambda}+O\left(|\lambda|^{-1}\right), \quad \lambda \rightarrow \infty, \lambda \in \Phi . \tag{5.2}
\end{equation*}
$$

If $\Psi=\{z \in C:|\arg z|<\psi\}, \psi \in(0, \varphi)$, then we can take the index $j_{0}$ such that, for $j>j_{0}$,

$$
\begin{equation*}
\left|\arg \lambda_{j}\right|<\psi, \quad\left|\arg \lambda_{j, k}\right|>\varphi \quad \text { for } k=v+1, \ldots, \ell . \tag{5.3}
\end{equation*}
$$

Suppose that the eigenvalues of the operators $P$ and $P_{j}$ satisfy the following conditions:

$$
\begin{aligned}
& \lambda_{1}(t), \ldots, \lambda_{v} \in R_{+} \quad \text { and } \quad \lambda_{v+1}(t), \ldots, \lambda_{\ell}(t) \in C \backslash \Phi ; \\
& \lambda_{j, 1}, \ldots, \lambda_{j, v} \in R_{+} \quad \text { and } \quad \lambda_{j, v+1}, \ldots, \lambda_{j, \ell} \in C \backslash \Phi .
\end{aligned}
$$

So we can change the sum $\sum_{k=1}^{\ell}$ to $\sum_{k=1}^{v}$ and the sum $\sum_{j=1}^{+\infty}$ to $\sum_{j=j_{0}}^{+\infty}$ in (5.2):

$$
\sum_{j=j_{0}}^{+\infty} \frac{1}{\lambda-\lambda_{j}}=\sum_{k=1}^{\nu} \sum_{j=j_{0}}^{+\infty} \frac{1}{\lambda-\lambda_{j, k}}+O\left(|\lambda|^{-1}\right), \quad \lambda \rightarrow+\infty, \lambda \in \partial \Phi .
$$

Multiplying both sides of the last equation by $\frac{1}{\lambda+\tau}, \tau>1$, using the contour integral method (see [9], Chapter 4), and from (5.3) integrating with respect to $\lambda \in \partial \Psi$, we get that

$$
\sum_{j=j_{0}}^{+\infty} \frac{1}{\lambda+\lambda_{j}}=\sum_{k=1}^{v} \sum_{j=j_{0}}^{+\infty} \frac{1}{\lambda+\lambda_{j, k}}+O\left(|\lambda|^{-1}\right), \quad \lambda \rightarrow+\infty .
$$

Replace $\lambda$ by $\eta$ in the previous relation, we have

$$
\sum_{j=j_{0}}^{+\infty} \frac{1}{\eta+\lambda_{j}}=\sum_{k=1}^{v} \sum_{j=1}^{+\infty} \frac{1}{\eta+\lambda_{j, k}}+O\left(\eta^{-1}\right), \quad \eta \rightarrow+\infty
$$

(remark that here, as before, by applying the contour integral method we can change the negative sign to the positive sign in the denominator of the last relation). We now use the countable discreteness of the eigenvalues of the operator $P$, and then we can change the above series to the following integral:

$$
\begin{equation*}
\int_{0}^{+\infty} \frac{d N(\tau)}{\eta+\tau}=\sum_{k=1}^{v} \int_{0}^{+\infty} \frac{d N_{k}(\tau)}{\eta+\tau}+O\left(\eta^{-1}\right), \quad \eta \rightarrow+\infty \tag{5.4}
\end{equation*}
$$

where

$$
\begin{aligned}
& N(\tau)=\operatorname{card}\left\{j:\left|\lambda_{j}^{\prime}\right| \leq \tau\right\}, \\
& N_{k}(\tau)=\operatorname{card}\left\{j: \lambda_{j, k} \leq \tau\right\}, \quad k=1, \ldots, v .
\end{aligned}
$$

By considering the previous conditions concerning the functions $\omega^{2}(t), \mu_{k}(t)$ and by applying the theorems of Chapter 7 of [10] we can derive the following formula for the functions $N_{k}(\tau), k=1, \ldots, v$ :

$$
N_{k}(\tau) \sim c_{k} \tau^{\frac{1}{2}}, \quad \tau \rightarrow+\infty
$$

where

$$
c_{k}=\frac{1}{\pi} \int_{0}^{1} \omega^{-1}(t) \mu_{k}^{-\frac{1}{2}}(t) d t, \quad k=1, \ldots, v .
$$

By (5.4) we have

$$
\int_{0}^{+\infty} \frac{d N(\tau)}{x+\tau} \sim \sum_{j=1}^{v} \int_{0}^{+\infty} \frac{d N(\tau)}{x+\tau}, \quad x \rightarrow+\infty
$$

Now applying for this last relation the Shakalikov multiray Tauberian theorem (see [6]), we get

$$
N(\tau) \sim \sum_{k=1}^{v} N_{k}(\tau), \quad \tau \rightarrow \infty
$$

where $N_{k}(\tau) \sim c_{k} \tau^{\frac{1}{2}}$ with $c_{k}$ as before. Consequently, the following asymptotic formula is valid:

$$
N(\tau) \sim \Lambda \tau^{\frac{1}{2}}, \quad \tau \rightarrow+\infty
$$

where

$$
\Lambda=\sum_{k=1}^{v} c_{k}=\frac{1}{\pi} \sum_{j=1}^{v} \int_{0}^{1} \omega^{-1}(t) \mu_{j}^{-\frac{1}{2}}(t) d t .
$$

This completes the proof of the theorem.

## Competing interests

The authors declare that they have no competing interests.
Authors' contributions
The authors contributed equally to this work. All authors read and approved the final manuscript.

## Acknowledgements

The authors would like to thank the referee for some useful comments and suggestions
Received: 1 June 2015 Accepted: 2 August 2016 Published online: 01 September 2016

## References

1. Boimatov, KK, Kostyuchenko, AG: The spectral asymptotics of non-selfadjoint elliptic systems of differential operators in bounded domains. Mat. Sb. 181(12), 1678-1693 (1990) (in Russian)
2. Boimatov, KK: Asymptotic behavior of the spectra of second-order non-selfadjoint systems of differential operators. Mat. Zametki 51(4), 6-16 (1992) (in Russian)
3. Boimvatov, KK: The spectral asymptotics of non-selfadjoint degenerate elliptic systems of differential operators. Dokl. Akad. Nauk Ross. 330(5), 533-538 (1993) (in Russian) (English transl.: Russ. Acad. Sci. Dokl. Math. 47, 545-553 (1993))
4. Sameripour, A, Seddigh, K: Distribution of the eigenvalues non-selfadjoint elliptic systems that degenerated on the boundary of domain. Mat. Zametki 61(3), 463-467 (1997) (in Russian) (English transl.: Math. Notes 61(3-4), 379-384 (1997) (Reviewer: Gunter Berger))
5. Sameripour, A, Seddigh, K: On the spectral properties of generalized non-selfadjoint elliptic systems of differential operators degenerated on the boundary of domain. Bull. Iran. Math. Soc. 24(1), 15-32 (1998)
6. Shkalikov, AA: Tauberian type theorem on the distribution of zeros of holomorphic functions. Mat. Sb. 123(165)(3), 317-347 (1984) (English transl.: Math. USSR-Sb. 51 (1985))
7. Vulis, IL, Solomyak, MZ: Spectral asymptotics of degenerate elliptic Steklov problem. Vestn. Leningr. Univ. 19, 148-150 (1973)
8. Vulis, IL, Solomyak, MZ: Spectral asymptotics of degenerate elliptic operators. Dokl. Akad. Nauk SSSR 207(2), 262-265 (1972)
9. Boimvatov, KK: Separation theorems, weighted spaces and their applications. Tr. Mat. Inst. Steklova 170, 37-76 (1984) (in Russian) (English transl.: Proc. Steklov Inst. Math. 1987, no. 1 (170))
10. Kato, T: Perturbation Theory for Linear Operators. Springer, New York (1966)

## Submit your manuscript to a SpringerOpen ${ }^{\ominus}$ journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Immediate publication on acceptance
- Open access: articles freely available online

High visibility within the field

- Retaining the copyright to your article

Submit your next manuscript at $>$ springeropen.com

